EE302 Problem Set 2
Complete the following problems from the textbook Principles of Electronic Communication Systems, 3rd ed. 
Chapter 2
Problems: 1 - 5, 7 - 10

Chapter 2 Problem 1
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Chapter 2 Problem 2
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Chapter 2 Problem 4
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	Stage
	Output Voltage

Vo,x (mV)
	Overall Gain

	1
	1.8
	15

	2
	39.6
	330 ( = AV,1AV,2)

	3
	277.2
	2310 ( = AV,1AV,2 AV,3)


Chapter 2 Problem 7
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Chapter 2 Problem 8
Use AdB = 10 logAP to determine that AP = 10AdB/10 = 105.5 = 31,622.776.

Now we can calculate Pout:
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Chapter 2 Problem 9
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Chapter 2 Problem 10
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This can be expressed as a voltage ratio or a power ratio:

[image: image10.wmf],

/20

13/20

,

10104.4668

PdB

A

VT

A

===



[image: image11.wmf],

/10

13/102

,,

101019.9523  ()

PdB

A

PTVT

AA

====


_1324284686.unknown

_1324286428.unknown

_1324286790.unknown

_1324287481.unknown

_1324839533.unknown

_1324287036.unknown

_1324286630.unknown

_1324285590.vsd
Stage 1
AV,1 = 15


Stage 2
AV,2 = 22


Stage 3
AV,3 = 7


Vin = 120 µV


Vo,1 = AV,1Vin 


Vo,2 = AV,2Vo,1 


Vout=Vo,3 = AV,3Vo,2 
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